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ks: 100
If the roots of th ; MATHS [Max. Mar
f)a.)l’ a/r\e in € equation qzxz 4 pzx +ri=Q are the squares of the roots of the equation qxl FpX = 0, then q,
P
b) G F
(C;;ap:gg- ahl"}eaf POlynomi(a})is ap (c) Both A. P and G. P (d)none of these
Ight line :
g)a”zﬁﬂse of a column ma(Pr)ix grde (c) parabola (d) hyperbola
matri v
i i) diagonal majrix (c) column matrix (d) row matrix
For the given matrixae L 3+ 5 7
ol #a08 .8 the order of the matrix AT is

@ 2x3 1y TEIg 115
The numb : 3x2 d) 4% 3
@ 0 €r of points of mtersicuon of the quadra(gc): SO)I(yﬁomial 2.4 3% (4)with the X axis is
If Ais a2 c) Oor1 d) 2
A X 3 matrix and B IS a 3 x 4 matrix, how rga)ny c{,,umns does A B(h‘)':lve
If numb c) 2 (d) 5
@) diazro?,;fﬁi‘;{“-“s and rows are not equal in a ﬁnl\trix then it is said to be a .

: rix (b) rectangular matrix (c) square matrix (d) identity matrix
Find the matrix x ifox+ (1 3 L a7
@ [‘2 - bl

a 2 g
Whizh of the foloming aar 2 -1] (©) [; %] @ [% 2]

of the 1followmg can be1calculated from the given matrices
26003
A= ¥ :
2 ?5 ol 2 > g () A2 (i) B2 (i) AB (v) BA

O 8 ana ey (b1 (”)g‘"d (ii)only  (c) (i)and(iv)only  (d) all of these
ey [13 % :13 B g 21 and C = [ Qrs 1] which of the following statements are correct?

! s p fts 20
) AB+C= [g 5] (i) BC= |2 _13 (iii) BA+C=[% g] (v) (AB)C = ['8 14

(@ (i) and (ii) only (b) (ii) and (ifi) on .
y c) (iii) and (iv) onl d) all of these
Ifa, B are the r%cznts 2oafcax2 +bx+c=0,a20 the$1 )thfa v)vrong(st)atenXent ié )
= £ e b
P ST o < © o =3- Q&R =

1
If1a and 3 are the roots of ax2 + bx + ¢ = 0, then one of the quadratic equations whose roots are 5~ and
T is, (a)ax?+ bx+c=0 (b)bx2+ax+c=0(c) cx2+bx+a=0 (d) cx2+ax+b=0

Letb=a+ c. then the equation ax? + bx + ¢ = 0 has equal roots, if
@ a=c {b) a=-c

: . () a=2c »(d) a=-2¢
Matrix A = [3,] ,.xa 1S @ square matrix if (@ m<n (b)ym>n Ec; m=1 (d)m=n
IfA=(1 -2 3)andB= | 2| thenA+B |

-3
0 3
(3 (000) ®) |0 (©) (14) ~ (d) notdefined
If a matrix is of order 2x3, then the number of elements in the matrixis (@) 5 (b
If Ais of order 3x4 and B is of order 4x3, then the order of BAis o i i 2
(a) - 3x3 (b) 4x4 - (c) 43 : (d) notdefined
If Ais of order mxn and B is of order pxq, addition of Aand B is possible only if
@) m—7p 5 (b) n=1q 3 (o) eI @ m=pn=q
IfA = (1 3) andA+B= (2 _4) then the matrix B =
a0 6 -8 -2 (ol
@ \o 1 (b) =18 4 )\ & ity ‘ @\1 7

HU5 Dcd) 3 = (20), then the value of x is

&) 7 () 7 ©~ @ 0
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In the adjacent flgure <BAC
-} 9 0
BE0E0=A> O Apac gD L BC then ~
i i 1m st ,
hat is the distanc Stand very A, y
m’the given figure p§ 5 itgvfri" (t)helr tops? (eallyona Plane ground. If the distance

(@) i between their feet is 12m,
, o QR =24 ¢ S ™ (b)14m . (c) 15m (d)12.8 m
f:; Ry §2§ (L ' “PAQ= 00, PA = 8o and (UABERRIEIR) 1. r
Atangentis Perpendicular to the raqi o2 O )
adius at th : i
(I:?WOT‘:HY tangents can b? dr ?\\I:/vn to the circ?e é?grie:r:r Zx(tb) point th’c?ontact (c) infinity (d) chord
o erior poin
The two tangents from a, external pojnt P _(©) infinite ¢ (d) zero
value ZAOB is (8 1oge ° " toacircle with centre atOare PAand PB. If ZAPB = 700 then the
In figure CP and CQ are tangents to a ¢ .- (b) 1100 (c) 1200 (d) 1300
If CP =11 cmand BC = 7 cm, then the ::;Le t\'}:'”}Cent're atO. ARB is another tangent touching the circle at R.
@ 6cm (b) 5 om " eNath of BR is s B
(c) 8cm ) 4cm Qg s
In figure PQ is tanget to the circjo atP and O is the cen By B :
(@ 120 b) 1000 '€ of the circle, then ZPOQ is
(c) 1100 ' d) 909

(
AB and CD are two chords of 5 circle whij :
e S e Chro ns o] SR L 02 B
n the » Chords AB and cp jnt ! p
and AP > PB, then AP = (a) gomn ety 11 AB = 16 om, PD = gom, e = 6

y

(b) 4¢

A point P is 26 cm away f (C)th12cm (d)6cm A

point I IS 26 cm away from the centre O of a circle ang BT
then OT is equal to @ 36cm (i)a';_ozz;]ls the tangent ?é)av:g fcrom P to the circle is 10 cm,
In the figure, if ZPAB = 1200 then /BpT = . m (d) 24 cm
(@) 120° (b) 30°
(c) 40° (d) 60° y
If the tangents PAand PB from an

1 external point P to circle with ‘are incli
et LT L o o s centre O are inclined to each other at an angle

o
In the figure, PAand PB are tangents {o the ¢ (c) 50 (d)60°

ircle drawn from an external|
circle at Q. If PA= 8 cm andCQ = 3 ¢m, then ,na

) point P. Also CD is a tangent to the
PC is equal to
(@ 11cm (b) 5cm
(c) 24cm (d) 38cm '
AABC is a right angled triangle where /B = 90°and BD LAC. IfBD = 8 cm, AD = 4 cm, then CD is
(@) 24cm (b) 16cm (€) 32cm (d) 8.cm
If the ratio of the height of a tower and the length of its shadow is V3" 1. then the angle of elevation of the sun has
measure (@) 45° b) 30° (c) 90° (d)60°
The electric pole subtends an angle of 30°at a point on the same level as its foot, Ata secand point'b’ metres above
the first, the depression of the foot of the tower is 60°. The height of the tower (in metres) is equal to
e b b!
@ Y3 b (b) 3 (€2 d) V3
A tower is 60 m height. Its shadow is x metres shorter when the sun’s altutide is 45° than when it has been
30°% thenxisequalto  (a) 41.92m (b) 43.92m (c) 43m (d)45.6 m

The angle of elevation of a cloud from a point h metres above a lake is B. The angle of depressio
in the lake is 45°. The height of location of the cloud from the lake is

@ Lddand) (b) l-tan () htan(45°-B)  (d) none ofthese
The angle of depression of the top and bottom of 20 m tall building from the top of a multistoried building are
30° and 60° respectively. The height of the multistoried building and the distance between two buildings (in
metres) is (a) 20,10v3 (b) 30,53 (€) 2010 (d)30,1030
Two persons are standing ‘x' metres apart from each from each other and the height of the first person is double
that of the other. If from the middle point of the line joining their feet an observer finds the angular elevations of
their tops to be complementary, then the height of the shorter person (in metres) is

) 2 x ®) T © ¥ @ 2 x

In the adjoining figure, AC =
(@) 25 rfno (b) 253 m

© &m ©@ 25@m

In the adjoining figure ZABC = :
5 e oy

n of its reflection
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anis 28.5 m away from a tower. His eye leve| 4. on of the tower
\ m'fn his eyes is45°. Then the height of the tUW(f[lp)‘ Ve the ground is 1.5 m. The angle of elevation ©

(@) 30m (b) 27.5 285m (d)27 m
mmgadjoinmg figure, sin g = -11-57- . Then BC (« <RI

gsm (b) 65m A
95m (d) 75m ’

e ) x A
~ The curved surface area of a right circular cone of height 15 ém and base diameter 16 cm is

: 80m cm? (b) 68 ™ cm? () 120 7 erm? 2
‘ i ; mcm (d) 136 mcm 4 surface
ftwo sollq hemispheres of same base radius r units are ir bases, then curved su
: of'thls new solid is  (a) 4 mr? sq.units (b) 61z',r;esztﬁ%ﬁtsher(il)oggng?a,units (d) 8 nr* sqg.units
~ The h?ght of a right cnrcul(abr)cc;r(l)e whose radius is 5 cm and slant height is 13 cm will be
S 12em ) [AUEN (c) 13 ,
' ff;zhe radius of the base of a right circular cylinder is hgwed i’;‘ep,ng the samé‘ﬁegr?tr,?hen the ratio of the volume

g!gcylinder thus obtained to the volume of origing| cylinder is
a 1:2 (b) 1:4 (c) 1:6 (d 1:8
The total surface area of a cylinder whose radius |'>% of its height is :

S R AT ! 2 y
. @)ﬁgﬂ $q.units (b) 24 mh? squnits (c) BLgh’ Squnits ) _55_97_‘2. sq.units

in a hollow cylinder, the sum of the external and internal radii is 14 cm and the width is 4 cm. If its height is
. 20cm, the volume of the material in it is .
(a) 56007 cm’ (b) 11200mem®  (c) 56 mcm? (d) 3600 & cm?
_ |fthe radius of the base of a cone is tripled and the height is doubled then the volume is
() made6times (b) made 18times  (c) made 12times  (d) unchanged

; ‘%a.btal surface area of a hemi - sphere is how much times the square of its radius,
oK (b) 4n () 3m (d) 27

coneis (@) 3xcm (b) x cm (c) 4xcm
frustum of a right circular cone is of height 16 cm with radii of its ends as 8cm and 20cm. Then the volum$
frustum is (@) 3328mcm’ (b) 3228 1 cm? (c)3240mcm®  (d) 3340 mcm
je cock used for playing badminton has the shape of the combination of (a) a cylinder and a sphere
" ahemisphere and a cone (c) a sphere and a cone (d) frustum of a cone and hemisphere b
A Spherical ball of radius r, units is melted to make 8 new identical balls each of radius r, units. Then r, - 1 IS
) b)dia2 (c) 4:1 d 1:4 7
volume (in cm?) of the greatest sphere that can be cut off from a cylindrical log of woodz%f base radius 1cm
s n
ight 5 cm is @45 7 ® 2 n © 51 (@)%

height and radius of the cone of which the frustum is a part are h, units and r, units respectively. Height of
frustum is h,, units and radius of the smaller base is r, units. Ifh, - h, =1 2 then 1 F 1S

% (b)r5dhs2 (cyg2id (d) Bl P
of the volumes of a cylinder, a cone and a sphere, if each has the same diameter and same height is
9 -3 by 12113 (c) 123142 (d) ded 2
urved surface area of a right circular cylinder of radius 1 cm and height 1 cm is equal to
2 (b) 2mcm? (c) 3mcm? (d) 2cm?
B rea of a right circular cylinder is 80 cm?. If its height is 5 cm, then the volume is equal to
, (s) 400cm?®’ (b) 16cm? (c) 200cm? (d) Ag_Q cm?®
If the total surface area a solid n'ght circular cylinder is 200 m cm?. and its radius is 5¢cm, then the sum of its sum
height and radius is (@) 20cm (b) 25cm ~(c) 30cm  (d)15cm
curved surface area of a right circular cylinder whose radius is a units and height is b units, is equal to
ma*b sg.cm (b) 2mab sq.cm (c) 2m sq.cm (d) 2sq.cm g
e diameter and height of a right circular cone are 12 cm and 8 cm respectively, then the slant height'is
- 10cm (b). 20cm (c) 30cm (d) 96 cm
'he total surface area of a solid hemisphere 6f diameter 2 cm is equal to
12 cm? ’ . (b) 12 7w cm? (c) 4 m cm? (d) 3 mecm?
~ Ifthe volume of a sphere is -1%- 7 cu.cm, then its radius is
(@ Fom (b) =-cm © = cm - (@Zem
. The surface areas of two spheres are in the ratio of 9 : 25. Then their volumes are in the ratio
4 %)‘ 81:625 '(b) 729:15625 @) s27: 75 (d) 27:125
e total surface area of a solid hemisphere whose radius is a units, is equal to

: {a) 2n a’ sq.units _(b) 3ma?squnits (c) 3 masq.units (d) 3 a?sq.units e
Ifthe radius of a sphere is half of the radius of another sphere, then their respective volumes are in the ratio -
@ 1:8 m)y 24 b (e) 122 (d) 8:1
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v\:l)hlqh of the following s Nota meagy,
The range of the data g & \°). Standarg - JSPersion?
Th’ sum of all dev':tlaore]lse‘osf't?{s % SR »evlatlon gc) : Arithmetic mean B(d) Varzad’;cae
(@) Always positive € data fro 4 (ot S ,
The Tgoaor:) of 100 °bservatgons?'svzagz r?éegat_ (c) zero : (d) non - zero integer
egm Sl b) 16 0300 their standarg deviation is 3. The sum of squares of all deviations is
Nee Of first 20 natural nypm o0 (c) 160000 (d) 30000

The standard deviation of 5 dataers is (@) 3225 (b)44.25 (c) 3325 (d)30
(@ 3 '8 3. If each value s rrtiieit then.the new vairance i

15 multiplied by 5 nce is

iati
sa) 3p+ 5 i °fbx' QZ IS p then the sta(ncc>i ot ol @ T

icient iati (c d) 9p+15
@ 35 gf Variation of a dats are ) T U

4 and 87.5% then the standard deviation is
(c) 45 . (d) 25

g it p
Apage s selottod sy 1o neon o2 @ o) e ) OSPAIS1 () P@Y= 0" (0)pia) + PR =
; > | 3 .
chosen is less than 7 is @) obability that the digit at units place of the page number

7

o Ok (of2 @ %5
The probability of getting a job f X .
Fogd g g (;) 2or a person is 3 I the probablity of not getting the job is % then the value

) 1 (© 3 d) 1.5

Kamalam w'ent to pla1y a lucky draw contest, 135 licets of the lucky draw were sold. If thg le’Obabﬂlty of
Kamalam winning is 5 , then the number of lickets bought by Kamalam is
(@ 5 1 (b) 10 W ) s b
T sen =t random f;%m the English alphabets (a b, . ...z} then the probability that the letter chosen
Aggen 0 & 13 (®) (05> @2
A purse contains 10 notes of Z.2000,1 26

5 notes of T 500, and 25 notes of .200
either a T.500 note or Z.200 note?

i 14 A 3 2
@ 75 (b) 70 ©5 4
The range of the first 10 Prime number 2,3,5,7,11,13,17,19,23,29 is (a) 28

What is the probability that the note is - One note is drawn at random.

A i = 2
For a collection of 11 items, Xx = 132 then the arithmetic mean is (@) 1 (b) 162 (E:(;)1249 gg; %
For any collection of n items, X (X-X) = @ Xx (b)x (© nX  (d)0
For any collection of n items, (Xx) -X = (@ fx (b)(n-2)X (c) (n-1)% (d) 0
Iftis the standard deviation of x,y,z then the standard deviation X+5, y+5 z+5 is
(8 = (b) t+5 (c) t (d xyz
Variance of the first 11 natural numbersis _  (a) V5 (b)Y1I0 () 5 Y2  (d) 10
Standard deviation of a collection of data is 242, If each value of multiplied by 3, then the standard deviation of the
new data is (@ V12 (b) 42~ ) 62 (d)9\2
If§ is an imposible event, the p(§) = ()1  (b) - ()0 @+
If p is the probability of an event A, then p satisfies
@ O0<p<1 ) (b) 0<p=1 (€) 0<p=<1 (d) 0<p<1
There are 6 defective items in a sample of 20 items. One item is drawn at random_ The probability that it is a
non - defective itemis  (a) <1 (b) O © @)%
Two dice are thrown simultaneously. the probability of getting a doublet is
1

0% o+ oF 0t
Probability of getting 3 heads or tails in tossing a coin 3 times is

1 3 i
@ -5 b) 4 (©) g @5
The probability that a leap year will have 53 Fridays or 53 Saturday is
4~ ®) & 4 R

7 ks (c) 7

The probability of selecting a queen of hearts when a card is drawn from a pacl; of 52 playing card is
1
@ © 45 (© 43 ) 25

100. Probability of sure event is

(@ 1 b 0 (¢) 100 (d) 0.1
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